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Attempt all questions. All questions carry equal marks.

&t 737 Sifard &1 @t g  oiw T &

1. (a) How to determine residential status of an Individual and a Company?

T iR AR 06 & B A Rafy w5 Prafor 3% & ¥ 5
(b)  The following are the incomes of Mr. Aman for the previous year 2015-16:

Rs.

() Income from agriculture in Bangladesh - , 1,20,000
(i)  Salary received in India for services rendered in Iraq (computed) 1,80,000
(i) Income from business carried on in Kathmandu controlled from

Lucknow (one-third received in India) : 96,000
(iv) Dividend from a domestic company , 16,000
(v) Interest earned and received in Australia from Bank Deposits there 26,000
(vi) Pension from former employer in India but received in Sri Lanka 56,000

Compute Mr. Aman’s Gross Total Income ifhe is (a) Resident and ordinarily resident, (b) Resident
but not ordinarily resident and (c) Non-Resident in India.

fred af 2015-16 & Y Bt oFt @ o el of:

. } *60
() Ry ¥ R IF 1,20,000

@) T T & S Jaei (fvelom) & e wwa § wa R wm @ 1,80,000
(i) Fewg ¥ IO ¥ A Frawr oo wEws & frar

(o foerd wra & g far ) 96,000
(v) W BTN F TG Ay 16,000
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(a)

(b)

(v) % se § el § aiftfa = ol SifegforRm § € e Rear T - 26,000

(vi) R ¥ QT § 93 ST sl § W o g 56,000

ot o &t 9Fa W A H AR HINT AR T8 () Frardt iR amawrer Fard

3, (@) Pl wg Ao Farh 98 8, o) (1) gra § P ®) 6
' Or (3raan)

What is the scheme of partial integration of Non-Agricultural Income with Agricultural
Income?

NGRS B G o F S TR Ry & AT F® L 6
Mr. X is a citizen of Australia. His maternal grandfather was born in a village near Lahore in
1932. He came to India on April 7, 2015 to complete a foreign assignment of his employer

company. He goes back on October 4, 2015. Mrs. X is ROR in India for the previous year 2015-
16. Before April 7, 2015, he was in India as follows: '

Previous year No. of days when Mr. X was in India
2014-15 B Vi)
2013-14 ‘182
2012-13 180
2011-12 . 72
2010-11 175
2009-10 and before Nil

Determine his residential status for the assessment year 2016-17.

ﬁwxa@%mmqvﬁm%nmﬁnmwszﬁa@r%ﬁww&mm
€ 7 93 2015 H A P B B R K P et A @ e @ Ry ar

ST 71 TE 4 SRE 2015 B A9E TN AW ¥ | BT X ey af 2015-16 F e &
ROR &1 7 3@ 2015 ¥ veq PR TH 9T ¥ 39 YR &7 o

o o PR X? T § w2 R
2014-15 179 -
2013-14 182
2012-13 180
2011-12 7
2010-11 175

2009-10 ¥ 36 &t I

Frefor o 2016-17 & R e ST Rafy @ Frafor B
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Mr. Nagesh (42 years) received the following emoluments during the previous year 2015-16: _ '

Basic Salary Rs. 11,00,000. DA (not forming part of salary) 10% of salary. Bonus Rs. 78,000. Education
allowance Rs. 1,000 per month for 2 children. Commission (fixed) Rs. 46,000. The employer provides
a rent free accommodation in Hyderabad. Lease rent of unfurnished accommodation is Rs. 56,000.
The employer also provides Furniture costing Rs. 36,000 (WDV Rs. 14,000) and two AC’s (rent paid
Rs. 1 1,000). Mr. Négesh contributed 11% of his salary towards RPF. His employer also makes a
matching contribution. Interest is credited to his RPF account @ 10%. He also received interest
income on Bank Deposits Rs. 2,56,000.

Determine his taxable income and tax liability for the assessment year 2016-17 on the assumption that

he contributed Rs. 25,000 towards PPF.

fre iy (42 o) # Tew af 2015-16 & IR Pl wRefeEt o g6

T I 11,00,000 Fo; TEME AT (S I T 0T 7EH B) &7 &7 10%; S 78,000 Fo; Rredr
T 1,000 Bo Ii A 2 = & T Fftew (Rem) 46,000 Fo | P dewer F R
T T e BT & | SGARV AR H AT R 56,000 Fo ¥ 1 i o el
A a7 & Rr@a AR 36,000 o ¥ (WDV 14,000 o) 3R & wal. (Rewar 11,000 2 far mar
8) 3 &1 BRX TN TN A9 B 11% RPF F 7 0T & | S0T e 6 Suet 3 Oy
H AN B & | A 10% %‘taz%mkppaﬁﬁwmfrmﬁ%laﬁzsspoo To
P dF TR W AW A ol o ol ¥

IHH HEART AT AR iR o 2016-17 & 1T ¢ T @t Prafor RE 78 T 75 o
25,000 To PPF ¥ ST %Y % | 1
Or (W)

The following are the particulars of income of Mr. Y (62 years), resident of India, for financial year
2015-16:

(a) Basic Salary Rs. 65,000 p.m.

(b) Dearness allowance 30% of Basic salary.

(c) Transport allowance Rs. 2,000 p.m.

(d) Personal medical bills for the treatment of Mr. Y reimbursed By the employer Rs. 35,000. The

treatment has been done by a private doctor.
(e) He was given a chauffeur driven car (1600 cc) for private and official use. All expenses of

running and maintenance including driver wer: paid by the employer.

P.T.O.
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(f) He contributed 15% of his salary to recognized provident fund account to which his employer

made matching contribution. Interest @ 13% p.a. amounting Rs. 52,000 had been credited to his
aforesaid recognized provident fund account during the previous year on 10.12.2015.
(g) He invested Rs. 40,000 in National Saving Certificate IX issue and paid Rs. 10,000 towards

life insurance prerhium for an insurance policy taken on the life of Mrs. Y (sum assured Rs. '

--=4,00,000).

(h) Mediclaim insurance premium (for policy taken for the benefit of Y, Mrs. Y and children) paid
Rs. 35,000.

Compute the total income and tax liability of Mr. Y for the assessment year 2016-17.

et Y (62 o) wra & frareht 1 o Riclia o 2015-16 & forg o & Rymror Frefofe

& | '

(®) I a9 65,000 To Fiy AE

(@) WETE S I AT B 30%

(M) sRaeT W& 2,000 To Yy wE

(@) PFrerys smEr & fd i i e 3 afeghl freiear g7 2 1 S 35,000
%o H g1 IR felr St g fvam mam) ‘ |

(5) o o Pt 7 TR &M B RIT 1600 CC 2 v & |1 ) & 1 off | 7ol @ -
R TA IR TS @E@E F Y IR F Ia o P g R 9@ )

(2) SO o A T 15% AT ARG PR @R § o o @ B w § R
%mvﬂmm%lls%qﬁaﬁaﬁa-ész,ooosomgqgﬁqm.mqﬁw
i @@ & et af RArF 10-12-2015 F T T o

(B) 3T 40,000 Fo U Fua yArN IX Friw F R fhe & ok sl v o=t
Wi X i o @ frg i <@ S fEE 35,000 w0 Ry ¥

frex Y& fafer af 2016-17 & for g9 @ ol & AR @ st R 11

(a) How to calculate taxable income of a let out house property?

R ® &’ e § g A aw & e 9 R a3 5

(b)  Discuss the provisions pertaining to deduction available in respect of interest on borrowed capital
(loan taken for acquiring a property) under section 24, if the property is:
(1) . let out house property; and
()  self-occupied house property.
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gRT 24 % SFia SuUR o T Gl (Fufer bt sulla & & oy ferar war o) w0

& Y § I FEN B IR A FgEnst i aaEer Fig Al o

@) frmg w & 1€ gl & ik

() wARETE E-ETR ¥ 6

Or (W)

Mr. Himanshu owns a house. 50% of it is being used by Mr. Himanshu for his own business and 50%
of the house is let out @ Rs. 25,000 p.m. However, it remained vacant for two months. Fair rent of the
entire house 1s Rs. 40,000 p.m., municipal valuation Rs. 38,000 p.m. and municipal tax paid is Rs. 8,000.
Insurance premium paid is Rs. 12,000, repair charges Rs. 10,000 and depreciation of the entire house
is Rs. 26,000. His business income before charging expenditure relating to house property is Rs.
7,00,000. During the previous year, he gets bank interest on fixed deposits (amount of interest being Rs.
80,000, before deduction of tax at source). ' '

Compute his total incomé and tax liability for the assessment year 2016-17.

forer iy o1 ot U R ¥ R 50% B Ry @ o ae & R SR w
& R W 50% 25,000 Fo Wiy A REIY W Rar gaw ¥ 1 wnfy 7w @ W B Rw @wl @
W EYf W o SR R 40,000 Bo IRy AT ¥, =fiRiew qeie 38,000 Bo Wiy WE ¥,
SR T R #X & Ff 8,000 To R ¥ for fiftew 3 12,000 Bo R ¥ | o &
10,000 Fo M Y W H T[AGE 26,000 To TIAT ¥ | IaH ATAE ¥ A, Te HIRa A
Heferq @l 1 HEA § Ve 7,00,000 Fo ¥ e avf & IRW oR Tl vl W 6 & @
et #1917 & W BreA & TEE A A AR 80,000 Fo Ay

Saa R 7 2016-17 & Q3 @ ok & i @ e AR 11

(@) Mr. Albert acquired a residential house in March 2006 for Rs. 8,00,000, Expenditure on
improvement (being construction of additional floor) incurred during 2011-12 is Rs. 6,00,000. He
sold the house property in September 2015 for Rs. 90,00,000 (stamp duty value : Rs. 92,00,000).
He acquired a residential house iﬁ March 2016 for Rs. 15,00,000. He invested Rs. 10,000 in
capital gains bonds issued by National Highways Authority of India (NHAI) during December
2016.

Compute the capital gain chargeable to tax for the assessment year 2016-17.
Costinflation index: F.Y. 2005-06 ='497
F.Y.2011-12=785
F.Y.2015-16 =108l
P.T.O.
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ey TEed ¥ 8,00,000 To A 2006 § TH AEHA WM SUIRKT 6T | I6@ guR
T 2011-12 & 6,00,000 To @Y Y (AfRaw wivm & Fofor W) | S99 30 6 wafe &
@t 2015 & 9,00,000 o F T fa@T (W L 92,00,000 To W )| = 2016 §
10,000 Bowﬁmwﬁmﬁwaﬁﬁsﬂaa@ﬁaﬁ@ﬁﬁmmﬁmm
g
et af 2016-17 & g Folvra @9 W Q99 a1 a1 ARRAT BT |
AN T qEHie: i I 2005-06 = 497

o o 2011-12 = 785

el o 2015-16 = 1081 6

(b) Briefly discuss provisions pertaining to taxation of gift received in cash/cheque by an
individual. _
A G HA A A ERT W< IR & FUUW & Hafera Faensii Hi qag § R
HIAT | ' 5

Or (m)

(a) . Define the term “capital asset”. ,
Yoirra aReafea @ aftwmer i 5

(b) Mr. X transfers gold on October 1, 2015 for Rs. 40,00,500. He incurred Rs. 500 expenses on
transfer. Gold was purchased on May 1, 1985 for Rs. 1,00,000. He purchased a new house in
Mumbai for residential purpose on June 10, 2015 for Rs. 30,00,000. He does not own any other
house. He sold Mumbai property on April 15, 2017 for Rs. 70,00,000. Find out the chargeable
capital gain for the assessment years 2016-17 and 20i8-19. Cost inflation index for 1985-86 is
133, for 2015-16 is 1081.
et X, 1 STET 2015 Y 40,00,500 Fo F AT SR FXam & | SHY 500 Bo JAT W
& 01 | 1 55 1985 & 1,00,000 Fo ¥ G 4T | IEY 10 F 2015 FY 3,00,000 Fo
¥ AT IR | TH T GHH GUET | IEH AT B IR 7w 18 ¥ 39T 15 o
2017 T Y3 &t Hafed & 70,00,000 To § 7 far | Faier af 2016-17 3k 2018-19 &
forg v dvg Geferr m STa ARG | AT i Gl 1985-86 B RIS 133 3K 2015-16

% fom 1081 ®) 6

5. Mr. X (30 years), a salaried employee, furnishes following information for the previous year ending

March 31, 2016:
Salary Income - Rs.40,80,000

Interest on debentures —  Rs.4,50,000
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Interest on bonds -~ Rs. 1,80,000
Long-term capital gains —  Rs.6,00,000

Gift received from a non-resident friend

through electronic transfer Rs. 4,00,000

Gift of a new computer received from a friend (value being Rs. 70,000).

Payment of insurance premium on the

life of spouse (sum assured Rs. 1,00,000) Rs. 8,000

Contribution towards RPF Rs. 30,000
Contribution towards PPF Rs. 10,000
Tuition fees of Mr. X’s Son Rs. 20,000

Payment of premium on own mediclaimpolicy ~ Rs. 25,000
Determine: (i) Net Income, (ii) Tax Liability of Mr. X for the assessment year 2016-17.

P X (30 T9/) T Iawt Fart 21 98 A 2016 F W 5w R a¥ @ R
frfofen g 2 &

3q | I —  40,80,000 To

il W = — 450,000 %o

& W AN —  1,80,000 o

dafafer §oft ~  6,00,000 o

R o B @ SR S an

4,00,000 To FH ITER TG fopar " 4,00,000 To

e & T F IER (70,000 o [T F) F ey |

Tl & Sigq W e o e

(S TR 1,00,000 o) 8,000 To

RPF ¥ RN 30,000 o

PPF ¥ I | 110,000 To

e X2 @ & e g 20,000 Fo

W Rk @ oot &1 dftew Rar 25,000 o |
Feffa S ) Faw s, (i) free X @ Frafor o 2016-17 & R Fedaa 11

P.T.O.
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Or (swr)
Write short notes on the following:
(a) Set off and carry forward or business losses
(b) Deduction under section 80C. .
frafofaa w s Rl ffew:
(@) TaET T B AR S A W e
(@) 9/ 80C & SAHTd HN |

11

8000
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